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PHYSICS 161, Spring 2003

Discussion Quiz 2, Thursday, Feb 20

Q1). A ball is thrown with an initial velocity vy at an angle of 30° above the

horizontal. A y vs z plot of its motion is given below.
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c). If the time taken to reach the peak is T, figure out the average acceleration
Vector d.,, graphically as well as by using components. What angle does this
vector make with the horizontal? What do you expect to be its magnitude?
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d). Write down the final velocity vector when the ball reaches y; = 0 at t = f5
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e). Write down the position vector 7(t) for the ball valid between t =0 to ¢ = £y
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PHYSICS 161, Spring 2003
Discussion Quiz 2, Friday, Feb 21

Q1). A ball is thrown from a cliff a height 7 above the ground with an initial
velocity v at an angle of 30 above the horizontal. A y vs z plot of it?*_I\notion is

given below.

a). In term of unit vectors @
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b). Write down the velocity vector

Top at the instant

the ball reaches the peak of its
trajectory. Indicate this 2
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velocity vector on the plot above.

¢). If the time taken to reach the peak is T', figure out the average acceleration
Vector du,, graphically as well as by using components. What angle does this
vector make with the horizontal? What do you expect to be its magnitude?
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d). On the y vs z plot indicate the instant at which the ball has the same speed as
at the instant it was thrown. Write down the velocity vector in terms of unit vectors
i and j at that instant.
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e). Write down the posmon Vﬁtor 7(¢) for the ball valid between £ =0 to ¢ =i;.

x= (8)7 =) 1
)/:(]H— Vo 5.n 0649 L°) 1 = (“’g’f“ijfﬁf

(o {E0)7 (he Lt 49457

N



